Bzt RERBEFRELBHEKSERSE (BEHR) TH2244817H
£F B & * HEERNE b RIS X B BE
ga| ma |2 mx 2 3 4 > 6 ! 8
AR LR K& %4 LR K& %4 LR K& %4 LR K& %4 Ed K& %4 LR K& &4 LR K& %4 LR K& %%
217] 1oom | 19 12795 |#RAKE #h3% 3 1322 |A% #= 2 13747 |KIE Ex 3 13778 |®m a2 13779 | K% B 2 13784 |®Nl EX 2 13791 [#BK &3 13798 |KF 74 3
+2.7 J\ EE +0.5 fas] Pa) +0.5 2/ # ﬁ' -0.7 g [ -0.7 \ EE +0.5 J\ EE -0.9 2 [ ﬁ:ﬁ\ ‘S' +0.5 g G|
417] 200m 0 2678 |[Aa B= 3 2198 A% #F 2 28”73 |AE F& 2 29718 |mm Fa 2 29755 |®JI HEZX 2 2957 |AH A 2 30709 (o =R 2 31762 AR BF 2
-4.1 |2 il -4.1 | ko] 3.6 |& il -3.6 |= il -3.6 |\ B -6.0 |/\ = -6.0 |2 il -4.1 |H b
" By BE 3 s nonng | REE B 3 e [ R THiG 3 s ngnq, R BIE 3
4/17|  400m 5 58762 | Bl Y e g e sl "0 gl 10Ty -
Voorop |EEHE # 3 s npren | BEF 2 nmne | R B3 c ey |EF 863 3 s ennan |FFLEEBF 2 s amoo |FAJK  BRE 2
4/17|  800m 6 232786 | gl 235762y ml 24078 o 24T = 25279, gl 258y =
N 7, = =) =FE
4/17| 1500m | 6 524”08 ?_ET BE 21 5 a0 j:fg" AR 2| pgas T BYS 2| o pyugy MRS 3
=2 G = G i3 IR =] =
4/17| 3000m | 8 1173978872 AT 2400008 m‘ =R 2
J\ fEE % i&
4/17| 3000m | 2 18’ 28"45§ ﬁﬁzﬁ
18744 |86k #7F 3 19712 2R #h% 3
4/17\ 100mH ) 2 -3.3 A w47 | e
4/17| 400nH | 2 1707742 zaa ﬁ“%
" A& B 2 " AH F& 2 " R BF 2
52793 53727 56”48
4/17| 4x100R 4 BiRE #hE 3 BE HFAE 2 R EF 2
I & wI BEX 2 o @ FR E 3 i 5 Wk ¥RE 2
gk mE3| T AT 73 KB #hE2
4 45789 EH X 3
R E&F 2
4/17| 4x400R | 1
AU W g PE BE2
Mk BRE 2
417%F & B 0
_ 412 B8R ® 3 432 |BA #F 3 3m77 [HE HE 3
411\E W B3 36 2@ sl 33 |0 B w4 |2me s
o JBT B4R 3 B 43 WA #EF 2 AT #%F 2
41707 A % 6 692 |y - L A 587 | = ST PSR
N £ AT 3 AT % 2 BT =R 3
417\m & & 3 2965 |y gl My o s 28 |y -
0 EIE AT 3 M ERE 2 =% &2 L
417010 Y % 4 364 | N w26 [ i LU A
E 64% REESSFERAETER
s m AN B| 484 == Bl KIE SR Bm ER B IERTIE RIS
BAA R B 16.0°C 313 2.5m 55% # % fER B EN
108 BBh 16.5°C B i 1.7m 50% % % BT OZE M
417 128 iBEh 18.0°C o] 1.6m 40% b3y 9B HE #E  F
148 iEh 15.5°C o 2.5m 50% Ji-bh BHE HE R
168 Bh 16.0°C e 2. 1m 50%
BT iEh 16.0°C e 3.1m 55% 2 % O £ Fowm B oA




